900 GeV pp Soft QCD
g | T I T I I T | T I I T I T | _.(Q
s 18
-~ Cross section(An > 3) 2
a
(a) 1 I __\Oc
o — o
| —
— A\
B o
i
| T
————————————————————————————————————— R EEEE L EEEEEE e =
107 = " —
B ey
(2]
<
- =D
(o)
@
-2 | _|
10 — - ;
— m ALICE 1%
| --3-- Herwig 7.2.0 default il
— —— Pythia 8.201 default o=
s +-~-Sherpa1.4.3 default— L 2 — §
%)
107 =3
o L | | | L mfis
= ! =
2 & -2
~ 4 _
" [T Th-mommm -
S B _
-
< — _
c 1 1
0 |
= B _
o B _
0.5 —0.5
l . . l . . l
899.5 900 900.5

sgrt{s} [GeV]



	Contents
	Page 1


